1. The function f(:c) is graphed below. What is true 3. The function f(:l:) 1s graphed below. What is true

about the graph on the interval from point e to point f? about the graph on the interval fromx = g to x = 00?
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A. Itis positive and increasing A. Itis positive and increasing
B. Itis positive and decreasing B. Itis positive and decreasing
C. Itis negative and increasing C. Itis negative and increasing
D. Itis negative and decreasing D. Itis negative and decreasing

2. The function f(:c) is graphed below. What is true

. 4. The function f(a:) is graphed below. What is true
about the graph on the interval from £ = —00 to

a? about the graph on the interval from = cto x = 00?
r = a:
A

A
A
=

A. It is positive and increasing

A. Itis positive and increasing

B. Itis positive and decreasing

B. Itis positive and decreasing

) ) ) ) C. Itis negative and increasing
C. Itisnegative and increasing

) . _ D. It is negative and decreasing
D. Ttis negative and decreasing
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5. The function f(:c) is graphed below. What is true
about the graph on the interval from & = cto * = 00?

A

A

A. Ttis positive and increasing
B. Itis positive and decreasing

C. Itis negative and increasing

D. Itis negative and decreasing

6. The graph of y = f(:c) 1s graphed below. What is the

end behavior of f(:l:)‘7

A asxT — oo,f(:c) — —00 and as

x — —o0, f(x) = o0

B. asx — 00, f(a:) — 00 and as

z — —o0, f(x) = oo

C. asz — 00, f(z) — —ocoand as

x — —00, f(x) = —o0

r — —o0, f(z) - —o0

D. asx — oo,f(a}) — 00 and as

7. The graphof y = f(a:) is graphed below. What is the
end behavior of f(.cc)‘?

asr — —00,Y —» —o0andas & — CO,Y — CO

.asx —» —00,Yy —~» ooandas T — OO0, Y —r OO

asT — —00,Yy —» 00andas T — 0O, Y — —CO

8.

asx — —00,Y —» —00 and as
T — 00,y = —00

The graph of y = _f(.’l:) is graphed below. What is the
end behavior of f(z)?

as & — 00, f(a:) — —00 and as

z — —oo, f(x) = oo

asx — oo,f(a:) — 00 and as
& — —o0, f(z) = oo

as T — 00, f(:c) — 00 and as
r — —00, f(z) = —o0

as T — 00, f(a}) — —00 and as

x — —00, f(x) = —o0
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9. The graph of y = f(:l:) 1s graphed below. What is the

end behavior of f(a:)‘7

A. asx — —oo, f(x) — oo and as
x — 00, f(z) = —o0

B. asx — —o0, f(z) = —ooand as

x — 00, f(x) — oo

C. asx — —oo,f(as) — 00 and as

 — 00, f(x) = o0

D. asx — —OO,f(:IZ) — —00 and as
z — 00, f(x) &> —o0

10. The graph of y = f(:c) is graphed below. What is the

end behavior of f(a:)‘7

w s [ @ o

A asx — 00,y —+00andas T — —00,Y —» OO

B. asx — 00,y —+o0andasx — —00,Yy — —0OO

C. asx — 00,y — —0oandasx — —00,Y —» OO

D. asx — 00,y — —00 and as

T — —00,Y — —00
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